1/0 do/dA

Ratio to OPAL

10?

10

1071

0.5

91 GeV ee y*/Z (Hadronic)
| ' l I | T T T I | g
I —
— ==
— Jo
— 1=
— I~
— i [Te)
N
B e
—
— —|»
— :E
L .=
u o
- =k
[ — ™
— d<
— ™M
— _lo
o
(90
B ats
m OPAL ;
= --{3-- Herwig 7.2.0 default =k
e Pythia 8.186 default . S
- ¢ Sherpa 2.2.2 default <
| —-¥- Vincia 2.3.01_8.243 default 18
[72]
©
— _ 1O
| | | | | | | | | | = S
:l T T T T | T T T T |:
= =F.
¢ . =2 . o-----BF- - _D —
RS SERHER, Sattr ﬁ 1
B —0.5
| 1 1 1 1 | 1 1 1 1 |
0 0.05 0.1



	Contents
	Page 1


